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Historie: http://www-groups.dcs.st-and.ac.uk/~history/Hist Topics/Brachistochrone.html
Excerpt from an article by: J J O'Connor and E F Robertson

The brachistochrone problem was posed by Johann Bernoulli in Acta Eruditorum in June 1696:

"I, Johann Bernoulli, address the most brilliant mathematicians in the world. Nothing is more attractive to intelligent people than an honest, challenging
problem, whose possible solution will bestow fame and remain as a lasting monument. Following the example set by Pascal, Fermat, etc., I hope to gain the
gratitude of the whole scientific community by placing before the finest mathematicians of our time a problem which will test their methods and the
strength of their intellect. If someone communicates to me the solution of the proposed problem, I shall publicly declare him worthy of praise."

The problem he posed was the following:-
"Given two points A and B in a vertical plane, what is the curve traced out by a point acted on only by gravity, which starts at A and reaches B in the
shortest time."

Now Johann Bernoulli and Leibniz deliberately tempted Newton with this problem. It is not surprising, given the dispute over the calculus, that Johann
Bernoulli had included these words in his challenge:-

"...there are fewer who are likely to solve our excellent problems, aye, fewer even among the very mathematicians who boast that [they]... have wonderfully
extended its bounds by means of the golden theorems which (they thought) were known to no one, but which in fact had long previously been published by
others."

According to Newton's biographer Conduitt, he solved the problem in an evening after returning home from the Royal Mint. Newton:-
"... in the midst of the hurry of the great recoinage, did not come home till four (in the afternoon) from the Tower very much tired, but did not sleep till he
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